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PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the
blank. Then mark the correct choice on your answer sheet.

I-  In the central highlands of New Guinea the sudden ----------- from the society of the
stone ax to the society of sailing ships (and now of airplanes) has not been easy to make.
1) manifestation 2) deterioration 3) transition 4) sophistication

2- 1 want your help with my literature review, ------—- -- to the e-mail are some questions.
Please answer them.
1) Raised 2) Posed 3) Inquired 4) Attached

3-  There is no single or widely used definition of children's literature. It can be --—--nne-
defined as anything that children read or more specifically defined as fiction, non-
fiction, poetry, or drama intended for and used by children and young people.

1) broadly 2) optimistically 3) controversially  4) neutrally

4-  When many of the spoken languages of the Native American Indians were -—--------- as a
result of colonialism by English, French, Spanish or Portuguese, they became extinct.
1) distributed 2) replicated 3) illustrated 4) replaced

5-  During the winter storm, the road conditions were so ------—---—-- that schools were
cancelled for a week.
1) reckless 2) deplorable 3) superficial 4) erratic

6- Laying a bouquet of flowers and the gift-wrapped doll upon the bed, the young mother
kissed the sleeping Soha and said this -—==: ""A happy birthday, and God bless you,
my daughter!"

1) beneficence 2) malediction 3) benediction 4) valediction

7-  People who -- -- their dreams do what they love and they go for greatness.
1) chase 2) involve 3) gather 4) require

8- Attention is essential in achieving anything. If you can’t pay attention, you can’t get the
job e ’
1) taken 2) made 3) tried 4) done

9-  Everything man-made around you was -——--—----—- a thought in someone’s head.
1) socially 2) originally 3) quickly 4) desirably

10- The strength of the United Nations is dependent upon the -----aeeeev of its member
countries.

1) encounter 2) assumption 3) cooperation 4) urgency
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PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best
fits each space. Then mark the correct choice on your answer sheet.

[ can put my cash card into an ATM anywhere in the world and take out a fistful of
local currency, while the corresponding amount (11) ==-=seneeen from my bank account
at home. I don't even think twice: (12) ===eememaem the country, [ trust that the system will
work.

The whole world runs on trust. We trust that people on the street won't rob us,
(13) ==mmmmmmmme the bank we deposited money in last month returns it this month, that
the justice system punishes the guilty (14) -=--==eae-- . We trust the food (15) ===emnene-
won't poison us, and the people we let in to fix our boiler won't murder us.

11- 1) to debit 2) is debited 3) debits 4) debiting
12- 1) in spite of 2) in relation to 3) no matter 4) regardless of
13- 1) that 2) and 3) for 4) though
14- 1) and the innocent exonerated 2) and exonerates the innocent

3) in order for innocent to exonerate 4) which it exonerates the innocent
15- 1) is bought 2) which we buy it 3) we buy 4) to buy

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Accumulations of mercury in the body affect the nervous system and cause brain
damage. One proposed mechanism of mercury poisoning, based on the fact that Hg
has a high affinity for sulfur. involves interference with the functioning of sulfur-
containing enzymes. Organic mercury compounds are generally more poisonous than
inorganic ones and much more toxic than the element itself. An insidious aspect of
mercury poisoning is that certain microorganisms have the ability to convert
mercury(Il) compounds to methylmercury (CH3;Hg') compounds, which then
concentrate in the food chains of fish and other aquatic life. An early discovery of the
environmental hazard of mercury was in Japan in the 1950s. Dozens of cases of
mercury poisoning, including more than 40 deaths. occurred among residents of the
shores of Minamata Bay. Local seafood with up to 20 ppm of mercury was a major
component of the victims diet. The source of contamination was traced to a chemical
plant discharging mercury waste into the bay. In the free state, mercury is most
poisonous as a vapor. Levels of mercury that exceed 0.05 mg Hg/m® air are considered
unsafe. Although we think of mercury as having a low vapor pressure. the
concentration of Hg in its saturated vapor far exceeds this limit, and mercury vapor
levels sometimes exceed safe limits where mercury is used as in chlor alkali plants,
thermometer factories, and smelters.
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16-

17-

19-

20-

Mercury can affect the nervous system because ——-—-eeeeeeen,
1) it is soluble in water

2) it has a high electron affinity

3) it may interfere with sulfur-containing enzymes

4) it is much more toxic than all other elements

Which of the following species is the most poisonous?

1) Hg 2) HgS 3) HgCl, 4) CH;Hg™
According to the passage, up to 20 ppm of mercury was found in —-----eeeeeeee ‘

1) thermometers 2) victims® bodies

3) water of Minamata Bay 4) seafood taken from Minamata Bay

According to the passage, when the air is saturated with mercury vapor, how much
mercury exists in one cubic meter of air?

1)0.02 mg 2) 0.05 mg

3) more than 0.05 mg 4) less than 0.02 mg

The word “exceed” in the last sentence is closest in meaning to «----eeseeeeee-,

1) set 2) match 3) ignore 4) be greater than
PASSAGE 2:

Carbohydrates are the most widely distributed and abundant organic compounds on
earth. They have a central role in the metabolism of animals and plants. Carbohydrate
biosynthesis in plants starting from carbon dioxide and water with the help of light
energy. i.c., photosynthesis. is the basis for the existence of all other organisms which
depend on the intake of organic substances with food. Carbohydrates represent one of
the basic nutrients and are quantitatively the most important source of energy. Their
nutritional energy value amounts to 17 kl/g or 4 kcal/g. Even the nondigestible
carbohydrates. acting as bulk material, are of importance in a balanced daily nutrition.
The term carbohydrates goes back to times when it was thought that all compounds of
this class were hydrates of carbon, on the basis of their empirical formula, e.g. glucose.
CeH 204 (6C + 6H,0). Later. many compounds were identified which deviated from
this general formula. but retained common reactions and, hence, were also classed as
carbohydrates. These are exemplified by deoxysugars, amino sugars and sugar
carboxylic acids. Carbohydrates are commonly divided into monosaccharides,
oligosaccharides and polysaccharides. Monosaccharides are polyhydroxy- aldehydes
or -ketones, generally with an unbranched C-chain. Well known representatives are
glucose and fructose. Oligosaccharides are carbohydrates which are obtained from <10
carbohydrate units, which formally polymerize from monosaccharides with the
climination of water. Well known representatives are the disaccharides saccharose
(sucrose). maltose and lactose. In polysaccharides, consisting of n monosaccharides.
the number n is as a rule >10. Hence, the properties of these high molecular weight
polymers differ greatly from other carbohydrates. Thus. polysaccharides are often
considerably less soluble in water than mono- and oligosaccharides. They do not have
a sweet taste and are essentially inert. Well known representatives are starch and
cellulose.
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21- According to the passage, carbohydrates are synthesized in plants from the reaction of --

1) C with H,O 2) CO, with H,O
3) organic substances with food 4) organic substances with oxygen

22-  According to the passage, which of the following species is NOT an oligosaccharide?
1) fructose 2) sucrose 3) lactose 4) maltose

23- Based on the similarity of their -------eeeeeee- , deoxysugars, amino sugars and sugar
carboxylic acids are classed as carbohydrates.
1) carbon chains 2) chemical reactions
3) general formulae 4) nutritional energy values

24- According to the passage, which of the following species is almost insoluble in water?
1) Cellulose 2) Glucose 3) Maltose 4) Sucrose

25- The word “deviated” in line 11 is closest in meaning to ——---—-e=mmmems,
1) started 2) diverged 3) followed 4) resembled
PASSAGE 3:

While connoisseurs of gems value the clearest possible diamonds, geologists learn the
most from impure diamonds. Diamonds are formed in the earth’s crust at depths of
about 200 kilometers. where the high pressures and temperatures favor the most dense
form of carbon. As the diamond is formed. impurities are sometimes trapped and these
can be used to determine the diamond’s date of “birth”. One valuable dating impurity
is U. which is radioactive and decays in a series of steps to Pb. which is stable
(nonradioactive). Because the rate at which U decays is known, determining how
much U has been converted to Pb tells scientists the amount of time that has elapsed
since the U was trapped in the diamond as it was formed. Using these dating
techniques, scientists have recently identified the youngest diamond ever found.
Discovered in Mbuji Mayi. Zaire, the diamond is 628 million years old, far younger
than all previously dated diamonds. which range from 2.4 to 3.2 billion years old. The
great age of all previously dated diamonds had caused some geologists to speculate
that all diamond formation occurred billions of years ago. However. this “youngster”
suggests that diamonds have formed throughout geologic time and are probably being
formed right now in the earth’s crust. These diamonds won’t be seen for a long time.
because diamonds typically remain deeply buried in the earth’s crust for millions of
years until they are brought to the surface by volcanic blasts called kimberlite
eruptions.

26- Which of the following is the most dense form of carbon?

1) coal 2) graphite 3) fullerene 4) diamond

27-  Geologists study impure diamonds because they are interested in diamonds’ —-----eeeueu- .
1) date of Birth 2) mass
3) density 4) temperature and pressure

28- What happens to U when it is trapped inside impure diamonds?
1) It stops decaying after being trapped.
2) It decays to Pb in a series of steps.
3) It decreases the temperature of diamonds.
4) It reacts with carbon and convert it to diamonds.
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29-  According to the passage, the youngest diamond ever found is ----—-eeeeux -- years old.
1) 200 million 2) 2.4 billion
3) 3.2 billion 4) 628 million

30- The word “speculate” in line 13 is closest in meaning to --—-----eeeeuv .
1) describe 2) deny 3) watch 4) hypothesize
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